[pb/GeV]

t,2

pT

do/d

Ratio to ATLAS

=
<
[

I IIIIIII| I IIIIIII| I IIIIIII| I II&IE I IIIIIII| I I__

[HEN
o
R

[EEY

0.5

13000 GeV pp

--V¥--

top

o

ATLAS B e

- Pythia 67128 %0

- Pythia 6.428 397

Pythia 6.428 398

 Ppythia 6.428 39T S:x._ \:‘iiiip ~
- Pythia 6.428 392 T Yx o -
- Pythia 6.428 396 N

(ATLAS semileptonic ttbar)

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

p 2
g
A
e _
- %x;} cI ___________________ =9 11
- ,_,’/ o /:/ S L 2 I _
_547’% e ' -
-X b - ,/%,‘/ _oZ -
— - . R 1 D | - —
Sy =
. P —0.5
IR B L R L L | |
500 1000 1500 2000



	Contents
	Page 1


